HW 3.2

a) ap=(-2)"=1, ay=(-2) =-2, a0 = (~2)2 =4, a3 =(-2)°=-8
b) ap = a3 =qag=ag=3
c)%:7+ﬂ=8ﬂu=7+&=1hayﬂWHF=%,%=7+@=71
ma0=?+paw=2,m:zhu—m1=maz=ﬁ+oﬂf=8,@=21+pz3zq

a) The terms of this sequence alternate between 2 (if j is even) and 0 (if j is odd). Thus the sum is
240+2+0+2+0+2+042=10.
b) We can break this into two parts and compute (Zf‘:o 37) - (E?:o 27). Each summation can be computed
from the formula for the sum of a geometric progression. Thus the answer is
9 9
3?5—11 - %—t_-l—l = 0841 — 511 = 9330.

¢) As in part (b) we can break this into two parts and compute (Z?:o 2.3} + (Z?:o 3.27). Bach summation
can be computed from the formula for the sum of a geometric progression. Thus the answer is

2.39-2  3.22-3

5-1 © 2-1

d) This could be worked as in part (b), but it is easier to note that the sum telescopes (sce Exercise 19).
Each power of 2 cancels except for the —29 when j = 0 and the 99 when j = 8. Therefore the answer is
99 .- 90 = 511. (Alternatively, note that 9itl 97 = 27))

= 19682 4 1533 = 21215.

. et T ni . R 200 -
Thgt; e::;ztcxsc ;s l]kf; Emmpif 15. From Table 2 we knc?\v that 2% &% = 200% - 2017 /4 = 404,010,000, and
S k% =08%.00%/4 = 23,532,201. Therefore the desired sum is 404,010,000 — 23,532,201 = 380,477,799.



